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Read the following passage carefully and select the most correct answers of the given questions:
(Q. No. 031 to 035)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common
values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

031. According to the passage, traveling leads to -

(1)  exploiting foreign lands. (2) selling our wares to the others.
(3)  understanding human nature (4) establishing our superiority over
foreigners
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032.  When we meet other people while we travel, we learn to differentiate between
(1)  friends and foes (2) communities and nationalities
(3)  local and universal values (4) 1imagination and understanding

033. The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable (3) fragile (4) perishable

034. Traveling helps those who
(1)  want to learn foreign language
(2)  wish to make money
(3)  want to resolve differences among people
(4)  wish to learn fundamental common values

035. The things we care for are available in foreign lands in
(1)  plenty (2) unrecognizable forms
(3)  some form or the other (4) easily recognizable forms

036. Choose the sentence in which the correct articles are used :

(1)  The old are respected by the young (2) An old is respected by a young

(3)  OlId are respected by the young (4) The old is respected by the young
037. Choose the correct ‘prepositions’ to fill in the blanks in the given sentence :

Don’t side those who act contrary national interest.

(1)  for, against (2) to,to (3) to, with (4) with, to

038. Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.

(1)  Hidden (2) Covert (3) Apparent (4) Secret
039. Choose the word opposite in meaning to the given word :

‘Exasperate’

(1)  Belittle (2) Annoy (3) Tarnish (4) Please
040. Fill in the blank with the appropriate passive form of the verb from the alternatives supplied :

He a written test before he was appointed.

(1)  had been given (2) has been given

(3)  will be given (4) was given
041. Choose the correct alternative to fill in the blank :

I if I were you.

(1)  will apologize (2) had apologized

(3)  would apologize (4) was apologizing

042. Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father’s name Manoj?”
(A)  The old man told him whether his father’s name was Manoj.
(B)  The old man inquired whether his father’s name was Manoj.
(C)  The old man asked him whether his father’s name was Manoj.
(1)  Only ‘B’ is correct (2) Only ‘C’ is correct
(3) Both ‘B’ and ‘C’ are correct (4) Only ‘A’ is correct
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043.

044.

045.

046.

047.

048.

049.

050.

051.

052.

053.

Identify the figure of speech in the following line :
‘O grave ! Where is thy victory ?”
(1)  Personification (2) Apostrophe (3) Euphemism (4) Epigram

Identify the part of the sentence which has an error.
He is well up / these days despite / having ill health / No error
A B C D

I A (2) B 3 C 4 D

Name the underlined ‘clause’ in the given sentence :

We come here that we may study.

(1)  Adverb clause of place (2) Adverb clause of purpose
(3)  Adverb clause of supposition (4) Adverb clause of cause

Choose the one which is the correct ‘Question Tag’ for the given sentence :
‘Everything is fine’.
(1)  1isn’t everything? (2) isn’t this? (3) isn’tit? (4) isn’t that?

Choose the mis-spelt word :
(1)  Asterisk (2) Audience (3) Acrue (4) Almighty

Choose the alternative which best expresses the underlined phrase :
He is out and out a reactionary.

(1)  deadly against (2) in favour of (3) no more (4) thorough
Select the combination of numbers so that alphabets arranged accordingly will form a meaningful
word :

A S K 1 R H

1 2 3 4 5 6
(1) 264315 (2) 543126 (3) 513426 4 312645
Select the combination of numbers so that the parts arranged accordingly will form a meaningful
sentence:
1. engaged in other 2. they are 3. because 4. it is difficult
5. servants in big cities 6. to find man 7. profitable professions
(1) 4617352 (2) 2534671 3) 4653217 4 7132546

State what part of speech is the underlined word :
She likes the same colour as I do.
(1)  Adverb (2) Relative pronoun(3) Preposition (4) Conjunction

What does the underlined modal auxiliary express?
If it should rain, they will not come.
(1)  Supposition (2) Duty (3) Suggestion (4) Advice

Which of the following pairs is not correctly matched as ‘one - word substitution’?
(1)  Absence of government - anarchy

(2)  Government by the nobles - autonomy

(3)  Government by one - autocracy

(4)  Government by the officials - bureaucracy
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054.

055.

056.

057.

058.

059.

060.

031.

032.

033.

Choose the grammatically correct sentence :

(1)  The population of London is greater than any city in India

(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India
(4)  The population of London is greater than most other cities in India.

Choose the correct alternative :

(A) Canvass shoes are no longer in vogue.

(B) Candidates are not allowed to canvas for votes on the day of the election.

(1)  Only ‘A’ is correct (2) Only ‘B’ is correct

(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ are wrong

Choose the odd man out :
(1)  Trousers (2) Alms (3) Scissors (4) Innings

Choose the alternative which best expresses the meaning of the underlined idiom :
Monika’s habit of picking holes in every relationship is very irksome.

(1)  Admiring people (2) Finding fault

(3)  Criticizing people (4) Arguing with people
The specialist who cares and treats feet is -

(1)  Osteopath (2)  Orthopaedist

(3)  Chiropodist (4) Dermatologist

Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?

(2)  How should one keep oneself physically fit?
(3)  Isn’tit a shame to torture the weak ?

(4)  What is demonetization?

Choose the correct simple sentence for the given sentence.

He finished his exercise and put away his books.

(1)  Having finished his exercise, he put away his books.

(2)  He finished his exercise by putting away his books.

(3)  To finish his exercise, he put away his books.

(4) In spite of finishing his exercise, he put away his books.

TSt

IrTeR. HISU AT AT TR hI0TdT ?
(1) < (2) eI Uy (3) 9T 9mEn (4) 3NETET TRl

N
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c
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Q.B. Series - 302 Urdu / Social_Science (Set - A) 7 of 32



034. TEAHER 3T THod UGSl Bl

(1)  wTT-9m91 (2) Gwr-|w (3)  TYUT-HTY0] (4) AT-AT
035. TsRaTICl €9 gl qdtd gENl, TqHehicT, UshaeH! 9 ¥add STHUIRI ST S0 ?

(1)  =pHft (2) ol (3) v (4) pHBA
036. ‘geu mamelt et & T Sheft I AT SRiven YR o118 ?

(1) OEret (2) 31y (3) Gqaroft (4) et
037. e ‘UemTed’ AT UATA VAT FATE 61 had THIfGSE 3TEd ?

(1) ¥d Amed (2) Ed FAHTR (3) @d qHNm (4) €d G HEHE
038. Icohe WIGHT ¥ad ShidMT ol SRV Srear=al Aad] v fomfas o=ima ?

(1) Rt (2) Sgmie= (3) uwfre (4) @R
039. I-F-I-F B U1 STEUR I U ?

(1) ggasm (2) ST (3) aEdfdeteht (4) wferft
040. 3IYHITAT IUNITEE IYAT faeft STd degT I AR Bial ?

(1) g (2)  eAfemeRdt (3) o™ (4) 3=
041. o™ g1 lvre W TURivE 1R 7

(1) 31eyd (2) ym (3) wIFh (4) wma
042. WA A1 AT ITH TGRINOT 0T ?

(1) ErErR (2) dfes (3) =HER (4) wlER
043. WY G @A 3. I A IS ABEl.

(1) &fayderes (2) Ofqadumees (3) Ofqufossres (4) adqHHS
044. &Y Tfie 3R i@l

(1) T (2) 7@ (3) faehm (4) e
045.  TYEY THIETA Ieg @,

(1) IRy (2) TER (3) weETR (4) T
046. T AT Segr=T TR 316g I ?

(1) 3w (2) ™ (3) wamd (4) T
047. foegeneff wegr= 3T FHoIel ISl HIv ?

(1) exdfl X 3T (2) B X T (3) 3rEEs X @ (4) HaAw X "
048. 3TEF W @l

(1) emewi= (2) sEEiE (3) et (4) et
Q.B. Series - 302 Urdu / Social_Science (Set - A) 8 of 32



049.

050.

0s1.

052.

0s3.

054.

05S.

056.

057.

W AW FTed T foemetedt geart 3w forgr. (9. 5. 058 7 060)

(1) et =@ (2) et e (3) wet g

‘TuTefiE’ A1 Aew AES Hiv?
(1) fa. . RreTEgw (2) TR (3) 9.

‘ien valdier I’ A7 HreIEug hell hHior?

(1) i wrerE (2) foged am (3) g we
REIBERCRANEAR i -G8

(1) (2) e 3) =
AT TEUITCH <hl Jaehi-1 IGaAWRicl ST, ATRITRR STEl.

(1) I (2) wFEE (3) fosram
WY T IeEIdIa UG AT,

(1) =@ (2) = (3) #

g /o AT ux fafgarn shiorar s wreEr forgran ?

(1) fadeasa (2) faofed (3) ey
TSt auHTAd I 37, 3T: T 1 TRUIATd ¢

(1) eweE (2) T (3) =
‘MRt AT WSETA ART F ITh ALEHH AT,

(1) -uu (2) —-u (3) —uU-

(4) drefeasy

(4) =g

(4) uUu-U

TATAT 3 & Bid. I A 3761, hl HoETen RehRE 39d, W ATl a9 T AT efeh Wed 19an.
3T Tl BTt AFTG. A1 fqvar=an ardasd Rl Ushare dTedTel U SATETd. Shidl Jgal faaeel Sk arat
Al U, M AT Teh US Hiodl TR, Felcra AE fa= egwn: 9o Hild 8. T&d: el Ted
FAUAT TG HUATE A1 T !, &g Siad - @1 grerd fegdl - &1 =1 Teh USE T STl 378, Teama
T e GRATE TR, digieean 4 Heararye Ml fHeTee af aiEn STEme.

058. TG 3Heh & WeUATS HRUT FHIvId ?
(1) ferervarh 3t (2) S (3) VoAl M@ (4) Gflarl oTEs
059.  TORTAT FIGTISITehg hIvTdT ITET STed STeT ?
(1) whfe (2) ia (3) g (4) er=H
060. sTforaAT= TSR | ShivdT ?
(1)  wear Sereq T (2) Fsfuqy wfia T
(3)  fadi o= w0 (4) < g fogan
Q.B. Series - 302 Urdu / Social_Science (Set - A) 9 of 32



CHILD DEVELOPMENT AND PEDAGOGY
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CHILD DEVELOPMENT AND PEDAGOGY

061. Which of the following statement is correct about growth?
(1)  Growth is indefinite in nature.
(2)  Growth is hereditary
(3) It is not necessary that growth will occur according to the chromosomes during conception
(4)  Growth does not control the biological structure built up with the help of chromosomes.

062. Which of the following statements about motor development of infants incorrect?
(1)  An infant does not have emotional world.
(2)  The behaviour of a child is affected by the behaviour of his parents.
(3)  Growth of movements in children occurs from feet to head.
(4)  Children have intense memory.

063. Which of the following statement about sensation is not correct?
(1)  Sensation is primary mental process concerning external stimulus.
(2)  Sensation means only awareness of the external stimulus.
(3)  Sensation is getting knowledge about external stimulus.
(4) Sensation is not possible without external stimulus.

064. Our perception occurs in the nature of figure and background. Which of the following statement

does not support this opinion of Gestalt psychologists?

(1)  While giving meaning to sensation, both figure and background have to be taken into
consideration.

(2)  Considering only the background while giving opinion about some object is not needed.

(3)  There can be change in figure and background.

(4)  This change is dependent on the person who is getting the experience and the nature of
the object.

065. When an object comes before our eyes even when the object is not there, then it is called imagery.
Which of the following statement is not correct about imagery?
(1)  Previous experience is needed for forming imagery.
(2)  Images formed are all of the same intensity.
(3)  Images become blurred as time passes.
(4)  Images are related to sensations retained by sense organs.

066. Which of the following type of imagination includes building bunglows of playing cards, building
palaces in air and stories of fairies and ghosts?

(1)  Aesthetic imagination (2) Fantastic imagination
(3)  Pragmatic imagination (4) Productive imagination
067. “Thinking means arrangement of various aspect of previous experiences in mind”’. Who put forth
this opinion of thinking?
(1)  Stern (2) Stout
(3) J.S.Ross (4) Norman L. Munn
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068.

069.

070.

071.

072.

073.

074.

075.

Following are some statements about thinking process. Which of the following statement does

not explain educational importance of thinking process?

(1) Do not establish relation between an event and its cause by coincidental judgement.

(2) It is unnecessary to use the maxims like 'known to unknown' and 'concrete to abstract' for
concept formation.

(3)  Let the students think critically while studying theorems in geometry, observation in science,
historical events and geographical conditions of various countries.

(4) It should be seen whether there is enough material for making inferences.

Guildford has arranged 120 factors of intelligence into three groups. Which of the following factor
is not included in the group "Operation"?

(1)  Cognition (2) Memory
(3)  Evaluation (4) Method
Gessel has emphasized on __ while explaining the concept of development.
(1)  Characteristic (2) Maturity
(3) Learning (4) Effect
is a formal teaching method
(1)  Instruction theory (2) Bruner’s theory
(3)  Socrate’s theory (4) Normative theory of teaching

The pioneer of cognitive theory of teaching from the group of Normative theories of teaching is

(1)  John Dewey (2) N. L. Gage (3) Socrate’s (4) Herbart

Following are factors affecting personality is a psychosocial factor.
(1)  Physical weakness (2) Culture (3) Heredity (4) Physique

A teacher has to think about both heredity and environment while thinking about human

developmental aspects.

Which of the following statements support the above statement?

(A) To provide suitable environment to students coming to school from different environments
in order to develop their inmate powers.

(B)  To provide subjects by considering each child’s inborn qualities and talents.

(C)  To enable the students coming from poor and backward classes to progress by providing
suitable environment.

(D) To enable teacher to select suitable teaching method for teaching the students and
understanding their cognitive level.

(1) A,BandC 2) A,CandD 3) B,Cand D 4 A,B,CandD

The process where the subject does not have full freedom of behaviour, that is he does not have
full restriction but has limited freedom and the subject has been given 3-4 options of behaviour,
then it is called

(1)  Instrumental conditioning (2) Motor conditioning

(3)  Classical conditioning (4) Temporal conditioning
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076.

077.

078.

079.

080.

081.

082.

083.

In order to give specific shape to human and animal behaviour and to give specific incentive

for specific behaviour, for eliciting expected behaviour from the learner, type of
teaching is useful.
(1)  Indoctrination (2) Instruction (3) Training (4) Conditioning

Classifying personality based on the secretions of the body in four classes viz - Phlegmatic,
Choleric, Sanguine and Melancholic was done by

(1)  William Sheldon (2) Carl Jung (3) Kreshmer (4) Hippocrates
Analysing the subject by understanding its principles, studying rules and formulae of various
subjects and actually preparing the rules and formulae are the aspects of of transfer of
training.

(1)  Theory of generalisation (2) Theory of formal discipline

(3)  Theory of identical elements (4) Bagley’s theory

Which of the following alternative shows the correct sequence of motivation cycle?
(1)  Attempt, Need, Restlessness, Satisfaction, Keeping balance.
(2)  Restlessness, Attempt, Need, Keeping balance, Satisfaction.
(3)  Need, Restlessness, Attempt, Keeping balance, Satisfaction.
4) Restlessness, Need, Attempt, Keeping balance, Satisfaction.

Which of the following is not included in the factor “Self awareness” of emotional intelligence
proposed by Salovy and Meyer?

(1)  Self control (2) Accurate self assessment

(3)  Self confidence (4) Emotional awareness

Which of the following alternative is not useful for decreasing mental conflicts?
(1)  Stay aloof from the very reasons of conflicts.

(2)  Find out the exact reasons of conflicts.

(3)  Think about the things that are avoided.

(4)  Take advice of elder person.

Which of the following aspect about the learners with special needs is correct?
(1)  The behaviour of these children is normal.

(2)  There should not be different activities in school for these children.

(3)  These children cannot be absorbed in the normal education system.

(4)  There should be independent and different curriculum for these students.

Retention occurs at various levels. Following are given levels and retention information. Which
alternative shows the correct pairs?

A B
(A) [Cognition state 1) |Some things are recalled after small attempt of remembering

(B) [Semi cognition state |ii) |Some things are recalled with great difficulty

(C) [Non-cognition state |iii)|Some things are recalled quickly
(1) A-ii,B—iii,C—1i 2) A-iii,B-1,C—1ii
3 A-i,B-ii, C—iii 4) A-i,B-i,C-—iii
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084.

08s.

086.

087.

088.

089.

090.

When a topic is studied by understanding the internal relations as well as cause and effect relations
and if after a period of time this particular unit has to be recalled then this type of memory is

called as memory.
(1)  Rote memory (2) Rational memory
(3) Immediate memory (4) Prolonged memory

Which of the following teaching method shows the principles of self learning, independence and

cooperation?
(1)  Vinetka method (2) Dalton method
(3)  Project method (4) Gary scheme

When an individual tries to stay in the viscinity of prestigious person and tries to show that he is
very close to him thereby trying to hide his own short comings and increasing his own prestige,

then this is called as type of defence mechanism.
(1)  Compensation (2) Displacement
(3)  Self punishment (4) Identification

‘New experiences mingle with the old ones as per the laws of similarity, proximity etc and form
links.” Who put forth this opinion and put forth the theory of Apperception based on associationism?

(1)  John Lock (2) John Herbart
(3)  Thorndike (4) Skinner

Which of the following method was proposed by Dr. Armstrong for teaching science subject and
development of reasoning power of the students?

(1)  Seminar (2) Symposium
(3)  Meuristic method (4) Lecture method

According to Skinner the main reason why students lag behind in studies is that there is no
reinforcement. Which of the following statement is not correct with reference to above statement?

(1)  Lack of encouragement is a reason of no reinforcement.
(2)  The learning capacity of every student is same standard and level.
(3)  Lack of revision of learning units.

(4)  Reinforcement is done properly if there is facility of personal learning method.

Following are given two columns. Match them and tell which alternative has the connect pairs?

A B
i) | Pedagogy A) | Content is decided by students
ii) | Androgogy B) | Content is decided by teachers
iil) | Mutogogy C) | Content is decided by teachers and students
(1) i-A,ii—B,iii—-C 2) i—-B,ii—C,iii—A
3) i-C,ii—B,iii—-A 4) i—-B,ii—A,iii—-C
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091.

092.

093.

094.

095.

096.

097.

SOCIAL SCIENCE

Match the pair -

Group A Group B
A) | Charaka 1) | Bimbisar
B) | Kalidasa 1) | Kanishka
C) | Jeevaka iii) | Pravarsen
() A-i,B-ii,C-iii, 2) A-iii, B-1ii, C-1i,
3) A-i,B-iii,C-1i, 4 A-ii,B-1,C-iii

Avanti : Malwa (Madhya Pradesh) : : Ashmaka : ?
(1)  Bihar (2) Uttar Pradesh  (3) Maharashtra (4) Gujrat

Chaitanya Mahaprabhu, Shankar Dev, Surdas Preached importance of

(1)  Krishnabhakti (2) Rambhakti (3) Shivbhakti (4) Vitthalbhakti
“When ageing Kanhoji Jedhe fell ill, Shivaji Maharaj told him not to neglect his medicines or
treatment, on any account’ this is an example of quality.

(1)  Caring of raiyat (2) Organisational skill

(3) A policy of tolerance (4) The inspiration for freedom

1) He crowned Jasawantsing’s minor son Ajitsingh as king

i1) To crush his resistance, Aurangzeb sent prince Akhbar in Marwad. Who’s elaboration is this?
(1)  Durgadas Rathod (2) Alivardikhan

(3) Banda Bairagi (4) Ahmadshah Abdali

Man is born free, people voluntarily impose upon themselves certain restrictions so that the
society may function smoothly. They create government machinery for the implementation of

these restrictions. It is not divine or god-given but is created through social contract. This theory
is put forth by

(1)  Voltair (2) Montesquieu
(3)  Rousseau (4) Thomas Jefferson

Indian entrepreneurs could not come forward in large number because -
A) of lack of government support.

B) of lack of experience of management.

@) of lack of capital to start industries.

(1)  only statements A and B correct (2) only statements A and C correct
(3)  only statements B and C correct (4) all statements correct
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098. Mabharshi Vitthal Ramji Shinde organised a conference at against practice of ‘Devadasi’.
(1)  Pune (2) Mumbai (3) Satara (4)  Kolhapur

099. Between whom was famous battle of Bhatwadi fought?
(1)  Mughals and Adilshah (2) Mughals and Nizamshah
(3)  Nizamshah and Adilshah (4) Mughals and Marathas

100. Rasaratnakara : Chemicals and Metals : : Panchasiddhantika : ?
(1)  Mathematics (2) Ayurveda
(3)  Astronomy (4) Sanskrit Grammar

101. Match the pair -

Group A Group B

A) | John Marshall i) | invention of carbon 14 system

B) | Dr. Dayaram Sahani | ii) | excavation at Harappa

C) | Rakhaldas Banerjee ii1) | head of archeological department during British era

D) | F. W. Libi 1v) | excavation at Mohenjodaro

() A-i,B-ii,C-iii, D -1iv 2) A-iv,B-iii, C-1ii,D -1

3 A-iii,B-ii,C-1i,D-1iv 4) A-iii, B-ii,C-iv,D -1
102. received immense popularity as a hero of famous book ‘Arabian Nights’.

(1)  Harun-ul-Rashid (2) Abu Bakre (3) Usman 4) Al

103. Find the odd man out -
Dante, Petrarch, Machiavelli, Thomas Moore
(1)  Dante (2) Petrarch
(3)  Machiavelli (4) Thomas Moore

104. Business families in Japan are known as .
(1)  Meiji (2) Jenro (3) Zaibetsu (4)  Shogun

105. Mau-Mau movement was organised in .
(1) Kenya (2) Zimbabwe (3) Ghana (4)  South Africa

106. Which country broke Yalta treaty?
(1)  America (2) Russia (3) England (4) Japan

107. Vikramankdevcharita, Mitakshara, Pampa Ramayan Manasollahas were created during reign of
which dynasty?

(1)  Shilahar (2) Chalukya (3) Rashtrakuta (4) Vakataka
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108.

109.

110.

111.

112.

113.

114.

115.

116.

Periodical “Voice of India’ was started by .
(1)  Dadabhai Nawroji (2) Firozshah Mehta
(3)  Behramji Malbari (4) Sir Dinshaw Petit

Vijaybhumi : Lalbahadur Shashtri : : Veerbhumi : ?

(1)  Mahatma Gandhiji (2) Rajeev Gandhi

(3)  Indira Gandhi (4) Pandit Jawaharlal Nehru

Akbar built to celebrate victory in Gujarat.

(1)  Buland Darwaja (2) Qutubminar (3) Tajmahal (4) Red Fort

A nation is created by smaller political units coming together : USA : : A state is created by
division of a country in two or more states : ?

(1)  England (2) Shrilanka
(3) Bangladesh (4) China

were not mentioned in the constitution of United States of America by the makers of
the constitution.

(1)  Rights (2) Duties
(3)  Responsibilities (4) Restrictions

The people are involved in the decision making process and the decision is taken often knowing
the public opinion. This is known as

(1)  Initiative (2) Referendum
(3)  Plebiscite (4) Recall

Bahujan Samaj Party was founded by

(1)  George Fernandis (2) Sharad Pawar
(3)  Kanshiram (4) Balasaheb Thakre
The principle of democracy namely, _ is not practiced fully in countries like United Arab

Emirates, Fiji, Estonia.

(1)  Free and fair elections.

(2)  Universal Adult Franchise and one vote one value

(3)  Secularism

(4)  Elected representatives have power of making final decision.

Our country is a republic because -

(1)  People who hold positions like the President, the Vice President and the Prime Minister
are elected directly or indirectly by the people.

(2)  Citizens get the opportunity to develop themselves as well as the society.
(3)  No religion or sect interferes in the affairs of our country.

(4)  The constitution is an instrument of social change.
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117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

Likeminded people come together to attain certain common objectives. This is known as

(1)  Freedom of profession and trade (2) Freedom of Residence

(3)  Freedom of Association (4) Freedom of Assembly

The Rajya Sabha functions under the supervision of
(1)  The Chairman

(2)  The Chief Justice of Supreme Court

(3)  The President

(4)  The Prime Minister

Article 51 of the directive principles of the constitution of India guides about

(1)  Sustainable values (2)  Urban facilities

(3)  Foreign policy (4) States administration
Currently there are __ Zilla Parishads in Maharashtra.

(1) 33 (2) 34 3) 35 4) 36
Atthe _ the earth is bulges.

(1)  Equator (2) Latitude

(3)  Tropic of cancer (4) Tropic of Capricorn.

The layer of the atmosphere closest to the earth's surface is called the
(1)  Stratosphere (2) Troposphere
(3)  Mesosphere (4) Tonosphere

The brightest planet seen in the sky is

(1)  Mercury (2) Mars

(3)  Venus (4) Jupiter

The __ sea lies between the continent's of Europe and Africa.

(1)  Arabian Sea (2) Bay of Bengal

(3) Red Sea (4) Mediterranean Sea

Professor / Teacher occupation is which type of occupation of following?
(1)  Primary (2) Secondary
(3)  Tertiary (4) Quaternary

Name the strait which connects Andaman sea and Jawa sea?
(1)  Palk strait (2) Malacca strait
(3) Magellan strait (4) Gibraltor strait
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127.

128.

129.

130.

131.

132.

133.

134.

135.

136.

In 1969 India launched the first rocket from
(1)  Bangalore (2) Shriharikota
(3)  Thumba (4) Hyderabad

If the contour lines are close to one another, the slope is

(1) Uniform slope (2) Gentle slope

(3)  Convex slope (4) Steep slope

The inner core predominately comprises and

(1)  Silica and Magnesium (2) Nickel and Iron

(3)  Silica and Aluminium (4) Iron and Magesium

Which is the Block Mountain in the following?

(1)  Himalayas Mountain (2) Alps Mountain
(3)  Black Forest Mountain in Europe (4) Rockies Mountain

Name the Unit of measuring the magnitude of a earthquake
(1)  Richter (2) Millibar
(3)  Millimeter (4) Centimeter

is a metamorphic rock.
(1)  Shale (2) Basalt
(3) Marble (4) Granite

In India with reference to largest area state is
(1)  Madhya Pradesh (2)  Chhattisgarh
(3)  Jharkand (4) Rajasthan

In the following which is the highest peak in the Arvalli Mountain?
(1)  Gurushikhar (2) Dhupgarh
(3)  Panchmarhi (4) Kalsubai

Island from the Andaman group is the only example of active volcano in India.

(1)  Minicoy (2) Barren
(3) Cannanore (4) Amin divi

In Karnataka on river Sharavati's water fall is

(1)  Zenith falls (2) Dhuandhar falls
(3) Jog falls (4) Shivsamudram falls
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137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

The largest fresh water lake in India is :
(1)  Sabhar lake (2) Pagog lake
(3)  Lonar lake (4) Waular lake

In Kerala and Karnataka pre-monsoon showers are called as .
(1)  'Coftee Blossoms (2) Mango Showers

(3)  Valeev rains (4) Kalbaisakhi

To the west of Sambalpur in the state of Orissa, on the Mahanadi ___ project is
developed.

(1)  Jaikawadi Proejct (2) Hirakud Proejct

(3)  Bhakra-Nangal Project (4) Damodar Valley Project

Farming which is entirely dependant on rainfall is called as
(1)  Plantation farming (2) Intensive farming

(3)  Dry farming (4) Subsistence farming

In India Karnataka rank first in the production of .
(1) Milk (2) Wool
(3)  Pisciculture (4) Silk

In India the first modern iron and steel factory was started at Kulti in
(1)  West Bengal (2) Madhya Pradesh
(3) Orissa (4) Uttar Pradesh

In the West Pacific ocean world's deepest trenchis .
(1)  Puerto Rico (2) The Mariana Trench
(3)  Sunda deep (4) South Sandwhich trench

trees are found in Equatorial forest.
(1)  Chestnut (2) Teak
(3) Mahogany (4) Pine

Active Volcano in Japan is
(1)  Katmai (2) Mount Kilimanjaro

(3)  Vensuvius (4) Fujiyama

Factor's like Agriculture, Industries, Transport and Urbanization are commonly known as

factors.
(1)  Economic (2) Social
(3)  Physical (4) Political
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147. In Vaticancity how may percentage of foreign born population?

(1) 0.5%
3) 70%
148. __ is acentre in all kinds of development.
(1)  Region
(3) Nature

149. Panama canal is called “Gate way of the
(1)  Atlantic ocean

(3)  Pacific ocean

2)
(4)

2)
“4)

2
(4)

40%
100%

Man

Transportation

Indian ocean

Arctic ocean

150. Find out the instrument and proper number of Aneroid Barrometer.

(1)
5
R MJ;
(3 | J
sl
el

(4)
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